Can you use the sharing method to
solve these equations?




Key Learnin: To solve division equations using the grouping
method.

umber of dots
> whole by grouping the dots.

e division equation.

| can solve division word problems

division  sharing groups of  divide equal groups




We have been learning how to divide something by

sharing it into eq_ual groups.




We have been learning how to divide something by
sharing it into equal groups.




We can also solve a division equation by
grouping the whole.

en we work out how many equa
\ the whole.

Draw the correct number of dots for your whole !

aw circles around the number of the dots




We need to divide these 10 fish into
groups of 2.




The 10 represents the number of fish (whole). Tot-odice
The 2 represents the numbers of fish in each group

(part).
The 5 represents the number of groups (part).




Let's try another! We need to divide
these 15 shells into groups of 5.




The 15 represents the number of shells (whole).
The 5 represents the numbers of shells in each
group (part).

The 3 represents the number of groups (part).




Let's try some together!
We need to work out 8 + 2 =

d to do first?

rite this as an equatic




Let's try some together!
We need to work out 20 = 5 =

d to do first?

rite this as an equatic




Let's try some together!
We need to work out 18 + 2 =

d to do first?

rite this as an equatic




e/é What strategy do you think we

could use for this division equation?

40 - 10 =

Neither!

divide by 10 we just need to ¢
egg!




Now it’s your turn!

DO NOT STICK THIS SHEET IN!
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Theeare 30 jellyfish at The Despand 5
Jellyfish tanks.

How many pllyfsh live in each tank?

Show your werking out.

20cm o

ribbon?
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Miss Tinker has a 20em piece of wool for her knitting. She
needs to cut it into San pieces.

? = Answer

How many San pieces do you think she can cut from this

Show your, working out.

Mr Ogden has 16 footballs.

Key leaming: to solve division
equations using the grouping
method
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Which of these picures -
matches the calculation? Circle 1

l

the correct ones.

He can fit 2 footballs in a bag.
How many bags does he need for
all of the footballs?
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Reflection

grouping method to solve t

m Is the answer the same?




